
日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 4 × 3 − 9 ÷ 3

12

＝ 12

＝ 1 2 −

② 6 × 9 − 2 4 ÷ 6
24

54

＝ 54

＝ −

③ 8 4 ÷ 6 4 5 ÷ 5
84 45

＋

＝ 14

＝ ＋ 14

② 確認

2

(うすい字はなぞりましょう。)

❶

❸
❶

❸

＜筆算スペース＞

❷

❷

❶

❸

❷

❸

❶ ❷

❶

❸

❷

❸

❶ ❷



日にち：　　月　　日

名まえ

・ 計算をしましょう。

① 4 × 3 − 9 ÷ 3

12

＝ 9

2 4 ÷ 6

＝ 1 2 − 3

② 6 × 9 −

5

＝ 5 0

③ 8 4 ÷

24

9

50

＝ 1 4 ＋ 9

6 ＋ 4 5 ÷

＝ 5 4

23

54

14

84 45

＝ 2 3

− 4

② 確認 答え

2

(うすい字はなぞりましょう。)

❶

❸
❶

❸

＜筆算スペース＞

❷

❷

❶

❸

❷

❸

❶ ❷

❶

❸

❷

❸

❶ ❷


